

# GENERALIZATIONS OF VOSMANSKY'S IDENTITY

H. W. GOULD AND JOCELYN QUAINANCE

ABSTRACT. We first use the Fundamental Theorem of Algebra to give an almost immediate proof of the identity

$$\sum_{k=0}^{2n} (-1)^k \binom{2n}{k} \binom{x+k}{2n} \binom{x+2n-k}{2n} = (-1)^n \binom{x}{n} \binom{x+n}{n} \quad (0.1)$$

valid for all complex values of  $x$  and all non-negative integers  $n$ . The identity was found by J. Vosmansky when  $x$  is a non-negative integer, and proved, in this case, by L. Carlitz. We then generalize, and prove, that for any integer  $r$ , and any complex  $x$ .

$$\sum_{k=0}^{2n} (-1)^k \binom{2n}{k} \binom{x+k}{2n+r} \binom{x+2n-k}{2n+r} = (-1)^n \binom{2n}{n} \binom{x+n}{2n+r} \frac{\binom{x+n}{n+r}}{\binom{x+n}{n}}. \quad (0.2)$$

In fact we prove more generally that

$$\sum_{k=0}^n (-1)^k \binom{n}{k} \binom{x+k}{n+r} \binom{y+n-k}{n+r} \quad (0.3)$$

$$= (-1)^n \sum_{k=0}^n (-1)^k \binom{n}{k} \binom{x}{k+r} \binom{y}{n-k+r} \quad (0.4)$$

$$= (-1)^n \sum_{k=0}^n (-1)^k \binom{n}{k} \binom{x+k}{k+r} \binom{y+n-k}{n-k+r} \quad (0.5)$$

valid for all complex  $x$  and  $y$  and any integer  $r$  and for any integer  $n \geq 0$ .

## 1. INTRODUCTION: VOSMANSKY'S IDENTITY FOR NON-NEGATIVE INTEGERS

Vosmansky [6] discovered the identity

$$\sum_{k=0}^{2n} (-1)^k \binom{2n}{k} \binom{r+k}{2n} \binom{r+2n-k}{2n} = (-1)^n \binom{r}{n} \binom{r+n}{n} \quad (1.1)$$

where  $r$  and  $n$  are non-negative integers. A proof using generating functions with two variables was given by Carlitz [2], who considered the summation

$$\sum_{k=0}^{2n} (-1)^k \binom{2n}{k} \binom{r+k}{2n} \binom{s+2n-k}{2n} \quad (1.2)$$

where  $r$  and  $s$  are integers. He obtained the generating function

$$\sum_{n=0}^{\infty} \sum_{k=0}^{\infty} R(n, k, r) x^n y^k = (x-y)^r (1-x)^{-r-1} (1-y)^{-r-1} \quad (1.3)$$

where he defined

$$R(n, k, r) = \sum_{j=0}^r (-1)^j \binom{r}{k} \binom{n+j}{r} \binom{k+r-j}{r} \quad (1.4)$$

from which he was able to establish (1.1). Carlitz's derivation takes up two pages. In Part 3 of [2] Kaucky showed that (1.1) implies Dixon's remarkable identity

$$\sum_{k=0}^{2n} (-1)^k \binom{2n}{k}^3 = (-1)^n \binom{2n}{n} \binom{3n}{n}. \quad (1.5)$$

**Remark 1.1.** *While we are mentioning Dixon's Identity, we would like to remind the reader of two similar identities, both of which are found in [3], see Equations (3.81) and (6.6), respectively.*

$$\sum_{k=0}^n (-1)^k \binom{n}{k} = (1-1)^n = 0 \quad (1.6)$$

$$\sum_{k=0}^n (-1)^k \binom{n}{k}^2 = (-1)^n \binom{2n}{n}. \quad (1.7)$$

The reader should notice that the power of the binomial coefficients in the sums of Equations (1.5) through (1.7) does not exceed three. This is because N. G. de Bruijn [1] used asymptotic methods to show that no closed form exists for  $\sum_{k=0}^n (-1)^k \binom{n}{k}^a$ , whenever  $a \geq 4$ . De Bruijn's observation explains why all the identities in this paper involve summands that have at most a product of three binomial coefficients.

In the present paper, we offer two generalizations of Identity (1.1). The first generalization, Theorem 2.1, extends the Identity (1.1) to all complex  $x$ . The second generalization, Theorem 2.2, extends the results of Theorem 2.1. Theorem 2.2 introduces an additional parameter in the convolution pair. Both of these generalizations are natural extensions of Identity (1.1) and provide insight into the generating function proof provided in [2].

## 2. TWO GENERALIZATIONS OF IDENTITY (1.1)

Our first generalization extends Identity (1.1) to all complex  $x$ . This extension relies on the observation that  $\binom{x}{n}$  is a polynomial in  $x$  of degree  $n$ . Once we interpret the binomial coefficients as polynomials, we are able to apply the Fundamental Theorem of Algebra to Identity (1.1). In particular, we have the following theorem.

**Theorem 2.1.** *For all complex  $x$  and integers  $n \geq 0$*

$$\sum_{k=0}^{2n} (-1)^k \binom{2n}{k} \binom{x+k}{2n} \binom{x+2n-k}{2n} = (-1)^n \binom{x}{n} \binom{x+n}{n}. \quad (2.1)$$

*Proof of Theorem 2.1.* We recall that  $\binom{x}{n}$  is a polynomial of degree  $n$  in  $x$ . Then it is clear that the right side of (2.1) is a polynomial of degree  $2n$  in  $x$ , whereas at first glance the left side appears to be of degree  $4n$  in  $x$ . However, the left side is also the  $2n$ th difference of a polynomial of degree  $4n$ , and the sum is actually a polynomial of degree  $2n$ . A corollary to the Fundamental Theorem of Algebra states that two polynomials of the same degree are identically equal if they are equal for more distinct values than their degree. Hence, in order

to establish (2.1), it will be sufficient to exhibit  $2n + 1$  distinct values of  $x$  for which the identity (2.1) is true.

The relation is trivially true for  $n = 0$ . Let  $n \geq 1$ . It is clear that both sides of (2.1) are equal to 0 for the  $2n$  distinct values  $x = 0, 1, 2, \dots, n - 1$  and  $x = -1, -2, \dots, -n$ . Also, when  $x = n$  the relation

$$\sum_{k=0}^{2n} (-1)^k \binom{2n}{k} \binom{n+k}{2n} \binom{3n-k}{2n} = (-1)^n \binom{2n}{n}$$

is trivially true since every term in the series is zero except when  $k = n$ . Therefore we have equality in (2.1) for  $2n + 1$  distinct values of  $x$  and so the relation is true for all complex  $x$ .  $\square$

A natural generalization of Identity (2.1) occurs by replacing  $\binom{x+k}{2n} \binom{x+2n-k}{2n}$  with  $\binom{x+k}{2n+1} \binom{x+2n-k}{2n+1}$ . Gould analyzed this generalization as far back as 1953 [4]. In particular, he used a Fundamental Theorem of Algebra type proof, similar to that of Theorem 2.1, to show

$$\sum_{k=0}^{2n} (-1)^k \binom{2n}{k} \binom{x+k}{2n+1} \binom{x+2n-k}{2n+1} = (-1)^n \frac{x}{n+1} \binom{2n}{n} \binom{x+n}{2n+1}. \quad (2.2)$$

**Remark 2.1.** Identity (2.2) is equivalent to Formula (6.38) of [3], where, for  $m \geq 1$ , Formula (6.38) is best written as

$$\begin{aligned} & \sum_{k=0}^{2m} (-1)^k \binom{2m}{k} \binom{x+k}{2m} \frac{k}{x+k} \binom{x+2m-k}{2m} \frac{2m-k}{x+2m-k} \\ &= \frac{(-1)^m}{2} \binom{x}{m} \binom{x+m}{m} \frac{x}{x+m} = \frac{(-1)^m}{2} \binom{2m}{m} \binom{x+m}{2m} \frac{x}{x+m} = \frac{(-1)^m}{2m!^2} \prod_{j=0}^{m-1} (x^2 - j^2). \end{aligned}$$

With the advent of computer algebra, we are able to analyze the more general situation  $\binom{x+k}{2n+r} \binom{x+2n-k}{2n+r}$ , where  $r$  is integral. Note that when  $r = 0$ , we obtain Identity (2.1). In particular, we show the following theorem.

**Theorem 2.2.** For any integral  $r$  and any complex  $x$ ,

$$\sum_{k=0}^{2n} (-1)^k \binom{2n}{k} \binom{x+k}{2n+r} \binom{x+2n-k}{2n+r} = (-1)^n \binom{2n}{n} \binom{x+n}{2n+r} \frac{\binom{x+n}{n+r}}{\binom{x+n}{n}}. \quad (2.3)$$

*Proof of Theorem 2.2.* The proof of Theorem 2.2 utilizes the Creative Telescoping Algorithm of Zeilberger [5]. Assume  $r$  is a nonzero integer. The case of  $r = 0$  is Theorem 2.1. Let

$$f(n) = \sum_{k=0}^{2n} (-1)^k \binom{2n}{k} \binom{x+k}{2n+r} \binom{x+2n-k}{2n+r}. \quad (2.4)$$

Apply the ct package [5] on *Maple* to show that

$$\frac{-2(2n+1)(x+n+1)(x-n-r)}{(r+2n+1)(r+n+1)(2n+r+2)} f(n) = f(n+1). \quad (2.5)$$

If we let

$$g(n) = (-1)^n \binom{2n}{n} \binom{x+n}{2n+r} \frac{\binom{x+n}{n+r}}{\binom{x+n}{n}}, \quad (2.6)$$

which is the right side of (2.3), we can show via elementary factorial manipulations that  $g(n)$  satisfies

$$\frac{-2(2n+1)(x+n+1)(x-n-r)}{(r+2n+1)(r+n+1)(2n+r+2)}g(n) = g(n+1). \quad (2.7)$$

Hence, both  $g(n)$  and  $f(n)$  obey the same recurrence relation. Moreover, since  $f(0) = g(0)$ , we conclude that  $f(n) = g(n)$ .  $\square$

**Remark 2.2.** Recall that the Gamma Function allows us to define the notion of  $r!$ , where  $r$  is a complex number, except a negative integer. Then Equations (2.5) and (2.7), and hence Theorem 2.2, are valid for any complex number  $r$ .

### 3. TWO VARIABLE GENERALIZATIONS OF VOSMANSKI'S SUM

Encouraged by Theorem 2.2, we made more experiments with *Maple*, and are able to offer a two variable generalization of Vosmansky's sum.

**Theorem 3.1.** For all complex  $x$  and  $y$  and  $r$  and for any integer  $n \geq 0$ ,

$$\sum_{k=0}^n (-1)^k \binom{n}{k} \binom{x+k}{n+r} \binom{y+n-k}{n+r} \quad (3.1)$$

$$= (-1)^n \sum_{k=0}^n (-1)^k \binom{n}{k} \binom{x}{k+r} \binom{y}{n-k+r} \quad (3.2)$$

$$= (-1)^n \sum_{k=0}^n (-1)^k \binom{n}{k} \binom{x+k}{k+r} \binom{y+n-k}{n-k+r}. \quad (3.3)$$

When  $n$  is replaced by  $2n$ , and  $x = y$ , then all three sums are evaluated in closed form by formula (2.3) in Theorem (2.2).

*Proof of Theorem 3.1.* In a manner similar to Theorem 2.2, the proof relies on the *ct* package of *Maple* [5]. In particular, Zeilberger's algorithm shows that

$$(n+r+2)(n+r+1)(n+2r+2)X(n+2) + (2n+2r+3)(n+r+1)(y-x)X(n+1) - (n+y+x+2)(n+1)(n-y-x+2r)X(n) = 0,$$

where  $X(n)$  is any one of the three sums in Equations (3.1) through (3.3). Then, by checking any two initial conditions, say  $X(0)$  and  $X(1)$ , we prove the theorem.  $\square$

In Equations (3.1) and (3.2), we let  $r = 0$  and  $n \rightarrow 2n$ , to obtain an identity that involves a convolution on both the upper and lower indices.

**Corollary 3.1.**

$$\sum_{k=0}^{2n} (-1)^k \binom{2n}{k} \binom{x+k}{2n} \binom{y+2n-k}{2n} = \sum_{k=0}^{2n} (-1)^k \binom{2n}{k} \binom{x}{k} \binom{y}{2n-k} \quad (3.4)$$

valid for all complex values of  $x$  and  $y$  and all non-negative integers  $n$ .

Not only this, but we have a second result that involves the convolution in both upper and lower summation indices, which we record as Corollary 3.2. We obtain Corollary 3.2 by letting  $r = 0$  and  $n \rightarrow 2n$  in Equations (3.1) and (3.3).

**Corollary 3.2.**

$$\sum_{k=0}^{2n} (-1)^k \binom{2n}{k} \binom{x+k}{k} \binom{y+2n-k}{2n-k} = \sum_{k=0}^{2n} (-1)^k \binom{2n}{k} \binom{x}{k} \binom{y}{2n-k} \quad (3.5)$$

valid for all complex values of  $x$  and  $y$  and all non-negative integers  $n$ .

*Alternative Proof of Corollary 3.2.* The proof of Corollary 3.2 is done easily without use of the computer by using Corollary 3.1 and the well-known relation

$$\binom{-x}{k} = (-1)^k \binom{x+k-1}{k}. \quad (3.6)$$

We have, using (3.4),

$$\begin{aligned} & \sum_{k=0}^{2n} (-1)^k \binom{2n}{k} \binom{x+k}{k} \binom{y+2n-k}{2n-k} \\ &= \sum_{k=0}^{2n} (-1)^k \binom{2n}{k} \binom{-x-1}{k} \binom{-y-1}{2n-k} \\ &= \sum_{k=0}^{2n} (-1)^k \binom{2n}{k} \binom{-x-1+k}{2n} \binom{-y-1+2n-k}{2n}, \text{ by (3.5)} \\ &= \sum_{k=0}^{2n} (-1)^k \binom{2n}{k} \binom{x+2n-k}{2n} \binom{y+k}{2n}, \text{ by (3.4)} \\ &= \sum_{k=0}^{2n} (-1)^k \binom{2n}{k} \binom{x+k}{2n} \binom{y+2n-k}{2n} \\ &= \sum_{k=0}^{2n} (-1)^k \binom{2n}{k} \binom{x}{k} \binom{y}{2n-k}, \text{ by (3.5)}. \end{aligned}$$

□

**Remark 3.1.** When  $x = y = 2n$ , all three convolution sums reduce to Dixon's alternating sum of binomial cubes

$$\sum_{k=0}^{2n} (-1)^k \binom{2n}{k}^3 = (-1)^n \binom{2n}{n} \binom{3n}{n}. \quad (3.7)$$

4. FUTURE RESEARCH PROJECTS

We conclude this paper by briefly mentioning three research problems related to the theorems in Sections 2 and 3.

- Problem 1: Is it possible to provide combinatorial proofs of Theorems 2.2 and 3.1?
- Problem 2: What are the  $q$ -analogs to Theorems 2.2 and 3.1? Do these  $q$ -analogs have combinatorial meaning?
- Problem 3: Are there other two or three variable generalizations of Identity 1.1?

## 5. ACKNOWLEDGEMENT

The authors would like to thank the referee for helpful comments regarding this paper. In particular, the authors thank the referee for suggestions involving Remark 1.1, Remark 2.2, and for providing Problems 1 and 2 of Section 4.

## REFERENCES

- [1] N. G. de Bruijn, *Asymptotic Methods in Analysis*, Dover Publications, New York, 1981.
- [2] L. Carlitz, J. Kaucky, and J. Vosmanský, *On two combinatorial identities*, *Mathematica Slovaca* (Bratislava), **32** (1982), 297–300.
- [3] H. W. Gould, *Combinatorial Identities, A Standardized Set of Tables Listing 500 Binomial Coefficient Summations*, Second Edition, 1972, viii + 106 pp., Published by the author, Morgantown, W.Va.
- [4] H. W. Gould, *Theory of series*, Unpublished handwritten notes, Seven Volumes, 1945–1990.
- [5] M. Petkovsek, H. Wilf, and D. Zeilberger, *A = B*, Academic Press, 1997.
- [6] J. Vosmanský, *Monotonic properties of zeros and extremants of the differential equation  $y'' + q(t)y = 0$* , *Archivum Mathematicum* (Brno), **6** (1970), 37–73.

MSC2000: 05A10, 05A19

DEPARTMENT OF MATHEMATICS, WEST VIRGINIA UNIVERSITY, MORGANTOWN, WV 26506  
*E-mail address:* gould@math.wvu.edu

DEPARTMENT OF MATHEMATICS, WEST VIRGINIA UNIVERSITY, MORGANTOWN, WV 26506